Solve mentally. (4 pts.)

600 x 50 = 7,000x 30 =
6,000 x 60 = 90 x50=
Solve. (8 pts.)

Show your work on a piece of paper and send it on eschool message

768 + 6= 6,629+30=
8,659 x 25 = 33,475 x 9=
4,008 -2,459 = 456.78 — 294.66=

538 + 25= 987.146 + 55.253=

. (2 pts.)



Solve. (6 pts.)

Show your work on a piece of paper and send it on eschool.

a) Maria bought 14 outfits for the winter. If each outfit costs $43, how
much did all the outfits cost?

b) Last year, Tatiana’'s height was 144 cm and Karen’s height was 139
cm. What is the difference in height between the two girls?




